Puzzle 1


Which country has been hidden in the paragraph below: 

The local habitat around a railway track can be very interesting. For example, supporting the track is a sleeper, under which you can find the lesser spotted great weevil. 
Peru: The local habitat around a railway track can be very interesting. For example, supporting the track is a sleeper, under which you can find the lesser spotted great weevil.
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Puzzle 2

In which sport do winners move backwards and losers move forwards?

Tug-of-war.

Puzzle 3 

What is missing in this sequence: 

8 10 14 18 ==?== 34 50 66 


26: there are two alternate series, starting with the first two numbers, and each formed by doubling the preceding number in its own series and subtracting 2.

Puzzle 4
Take a normal piece of paper, exactly 0.1mm thick. Fold it in half, and then in half again, and again, and again. Do this a total of 50 times. How thick would the final paper be?

Very thick indeed! The paper doubles in thickness with each fold. If we could fold it 50 times, it would be around 70 million miles thick!

Puzzle 5
How many gifts, in total, did I receive during the Twelve Days of Christmas - according to the song?


364: for example, on the fifth day of Christmas, my true love gave to me: five gold rings + four calling birds + three French hens + two turtle doves + a partridge in a pear tree.

Puzzle 6

Tree-Tent is a logical game in which your mission is to locate all of the tents in the grid. Each tree is exactly connected to only one tent. A tent can be found in a horizontally or vertically adjacent square of a tree. Tents are never placed adjacent to each other, neither vertical, horizontal, nor diagonal. The numbers outside the grid give the total number of tents in the corresponding row or column. A tree might be next to two tents, but is only connected to one, and vice versa. 
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Puzzle 7
Using the BrainTracker grid below, how many words can you find? Each word must contain the central N and no letter can be used twice, however, the letters do not have to be connected. Proper nouns are not allowed, however, plurals are. There is at least one nine letter word. Excellent: 28 words. Good: 22 words. Average: 19 words. 

	A
	W
	E

	S
	N
	P

	R
	E
	P
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Common words: an, anew, answer, aspen, earn, en, enwrap, nap, nape, near, nee, new, newer, NEWSPAPER, pan, pane, pawn, pen, prawn, preen, ran, renew, sane, saner, sawn, seen, sewn, snap, snapper, snare, sneer, span, spawn, swan, wan, wane, warn, wean, wren.

All words: an, ane, anes, anew, answer, arpen, arpens, aspen, awn, awns, earn, earns, en, ens, enwrap, enwraps, ern, erne, ernes, erns, na, nae, nap, nape, napes, nappe, napper, nappers, nappes, naps, nares, naw, ne, neap, neaps, near, nears, nee, neep, neeps, new, newer, news, NEWSPAPER, pan, pane, panes, pans, pawn, pawnee, pawnees, pawner, pawners, pawns, pean, peans, peasen, peen, peens, pen, penes, pens, prawn, prawns, preen, preens, ran, ranee, ranees, rappen, renew, renews, resawn, resewn, rewan, sane, saner, sawn, seen, sen, sene, sewan, sewn, snap, snapper, snare, snaw, sneap, sneer, span, spawn, spawner, spean, swan, wan, wane, wanes, wans, warn, warns, wean, weaner, weaners, weans, ween, weens, wen, wens, wren, wrens.

Puzzle 8
This is a very special sequence and is complete, but what is the missing letter? 

T I A V S S A I C ==?== W I T M L 

B: these are the initial letters of the puzzle question text itself, therefore B comes from but.

Puzzle 9
My first is in Sally and in Sam.
My second is in Ian but not in John.
My third is in Mark and in Mandy.
My fourth is in Owen but not in Kevin.
My last is in Jason but not in Matthew.
Who am I?


Simon.

Puzzle 10
Can you guess what the following abbreviations mean 

COM DRA ADV ACT SPO MUS HOR SCI 



Movie types: comedy, drama, adventure, action, sports, musicals, horror, science fiction.

Puzzle 11
This arrow is currently pointing from South to North. Move one line and add one other to leave the arrow pointing from East to West. 
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Puzzle 11
You have the misfortune to own an unreliable clock. This one loses exactly 30 minutes every hour. It is now showing 4.00am and you know that is was correct at midnight, when you set it. The clock stopped five hours ago, what is the correct time now?


1.00pm.

Puzzle 12
A car travels at a speed of 64mph. Its fuel consumption is 28 mpg. It has a 11 gallon tank which was full when it started but at that very moment began to leak fuel. After 112 miles the car stops with a completely empty tank. How many gallons per hour was it losing?


4 gallons per hour. The car travelled 112 miles, using 4 gallons - therefore losing 7 gallons. The time taken to travel 112 miles was 1.75 hours. Therefore the car lost 7 / 1.75 gallons per hour.

Puzzle 13
What is it that you throw away the outside and then cook the inside. Then you eat the outside and throw away the inside? The item is naturally occurring. 


Corn on the cob.

Puzzle 14
What number comes next in this sequence: 

917452 97452 9745 975 ==?== 

97: the lowest digit gets dropped.

Puzzle 15
Unluckily, last week I lost my measuring tape. It was unlucky as I had to measure Daniel's toy box. Luckily though I could remember that the top had an area of 720 square inches, the side was 800 square inches and the end was 360 square inches. What were the true dimensions of the toy box?


Width=40, height=20, depth=18.

Puzzle 16
What is represented by this BrainBat? 

W   O   R   K
S E E S A W S 

Overseas work: 

Puzzle 17
Look at the following sentence once and once only, how many times can you find the letter F? 

Furry foxes of far origin often come of age far before scientific study forecasts. 


There are 10 letter Fs. Many people fail to see them all on the first reading, especially if this sentence is read aloud. Try this puzzle on your friends - you will be amazed.

Puzzle 18

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


How many squares can you find?

Answer: 30

Puzzle 19
What's Next?
Here are three series of letters. Each letter in each series is the first letter of a word. The words in each series are related. 

What are the next three letters in each series?

1. O, T, T, F, F, . . .

2. S, M, T, W, . . .

3. D, N, O, S, A, . . .

1. S, S, E (for six, seven, eight)

2. T, F, S (for Thursday, Friday, Saturday)

3. J, J, M (for June, July, May)
Puzzle 20
	 Dog Show

	If there are 196 legs and 126 eyes at the dog show, how many people and how many dogs are present? (All the people and all the dogs at the show have the normal number of eyes and legs.) 



	There are 28 people and 35 dogs. 

First, since dogs and people both have 2 eyes, divide 126 by 2. There are 63 at the dog show. You know that dogs have two more legs than humans. There are 70 more legs than eyes. Half of 70 is 35. Subtract 63-35=28. So there could be 35 dogs and 28 people. (or 28 dogs and 35 people) To check if there are 35 dogs, multiply 4x35=140 then add 28x2=56 for the number of human legs. 140+56=196.

STRATEGY – Guess and check



Puzzle 21

	 Ripping Pages

	If you ripped the following pages out of a book, how many separate sheets of paper would you remove? The page numbers are 4, 5, 24, 47, and 48. 


	 

	You would have four sheets of paper. The odd pages of a book are on the right side, and the even pages are on the left. Therefore, pages 47 and 48 are opposite sides of the same sheet of paper.
	


Puzzle 22

	 Colors
Imagine a world in which the colors of things have changed from what we consider normal. Assume the following changes: 

Snow is now red.
Grass is now black.
The sky is now brown.
Blood is now white.
Soot is now green.

In such a world, what is the color of dirt?
Dirt is now blue. The puzzle consists of pairs that exchange colors. Since the sky is now brown, brown things become blue. 


Puzzle 23

	Rising Tide
 
The rope ladder of a boat hangs over the side of the boat and just reaches the water. Its rungs are 8 inches apart. 

How many rungs will be under the water when the tide rises 4 feet?
 
When the tide rises 4 feet, the boat and its ladder will also rise. So no rungs will be under the water.


Puzzle 24

	 Three Little Pigs

	The three little pigs, as you know, built houses — one of straw, one of sticks, and one of bricks. By reading the six clues, figure out which pig built each house, the size of each house, and the town in which each house was located. Use a chart to keep track of your information and your logic.
 

 

TOWN

SIZE

MATERIAL

Patricia Pig

 

 

 

Penny Pig

 

 

 

Peter Pig

 

 

 

1. Penny Pig did not build a brick house.

2. The straw house was not medium sized.

3. Peter's house was made of sticks, and it was neither medium nor small.

4. Patricia Pig built her house in Pleasantville.

5. The house in Hillsdale was large.

6. One house was in a town called Riverview.


	 

	 

TOWN

SIZE

MATERIAL

Patricia Pig

Pleasantville

medium

brick

Penny Pig

Riverview

small

straw

Peter Pig

Hillsdale

large

sticks



	


Puzzle 25
	 Two Moves
Can you change two rows of Xs into a circle by moving only two of the Xs?

Go from this:

X   X   X

X   X   X
to this:
X   X

X             X

X    X
by moving only two Xs.

Hint:Try it by using pennies. But remember, you can move only two of the pennies. The others stay exactly where they are!

Move the X at the right in the top row and the X in the middle of the bottom row to the position of the bottom two Xs in the circle


Puzzle 26

	 Just in Time

	What occurs once in every minute, twice in every moment, yet never in a thousand years? 


	 

	The letter m
	


Puzzle 27
	Cat's Meow
 
For each of the following clues, what is a synonym that contains the letters CAT? 

1. Baseball position

2. Copy

3. What you get with a doctor's prescription

4. Underground cemetery

5. Time off from school or work

6. Ten-event contest

7. Disaster

8. Mimic

9. Cows

10. Teacher


 
1. catcher

2. duplicate

3. medication

4. catacomb

5. vacation

6. decathlon

7. catastrophe

8. copycat

9. cattle
10. educator




Puzzle 28

	 Small, Medium or Large?

	Al, Beth, and Cynthia got sodas to drink in the movies. "We want a small, a medium, and a large, and I don't get the large," Beth told the kid at the counter. "I thought you said you were getting large," said the boy who wanted the medium-size drink. 

Who wanted what size drink?


	 

	Al got medium, Beth got small, and Cynthia got large. You know that Beth didn't want large, so she could have gotten small or medium. But you know that someone else wanted medium, so Beth had to get the small drink. 

You also know who got the medium-sized drink — it had to be Al, because he was the only boy in the group. That means the large drink was for Cynthia.
	


Puzzle 29
	 Digging Dirt

	How much dirt is in a round hole that is 9 feet deep with a diameter of 3 feet? (Hint: You don’t have to do any math to get the answer. Just use your head!) 


	 

	None. You make a hole by digging out the dirt, so the hole is empty.

	


Puzzle 30
	Caffeine

	If a pound of tea has twice as much caffeine as a pound of coffee, and if a pound of tea is enough to make 160 cups of tea, and if a pound of coffee is enough to make 40 cups, and if a 12-ounce can of cola has about one-fourth the caffeine as a cup of coffee, 

How much caffeine does one cup of tea have compared to one cup of coffee?

How much caffeine does one cup of tea have compared to a 12-ounce can of cola?
 

	A cup of tea has one-half the caffeine that a cup of coffee has.

A cup of tea has twice as much caffeine as a 12-ounce can of cola.

STRATEGY: Make it simpler



Puzzle 31

	 Doggies

	The dog named Jam is heavier than the dog named Jelly. 

Copper weighs more than Brandy but less than Pumpkin.
Brandy weighs more than Jelly.
Pumpkin weighs less than Jam.

List the dogs in the order of their weights, starting with the heaviest.



	The heaviest dog is Jam, the next heaviest is Pumpkin, the next heaviest is Copper, the next heaviest is Brandy, and the least heavy (or the lightest) is Jelly. 

STRATEGY: Guess and check -- write each name on notecards and move them to test sequence

	


Puzzle 32

	 Balancing Act II

	At the vegetable market, a pair of scales will balance if 1 head of cabbage and 1 lemon are on one side and 7 tomatoes are on the other. 3 lemons will balance with 1 ½ tomatoes. How many tomatoes will balance with 1 head of cabbage? 


	 

	1 head of cabbage will balance with 6 ½ tomatoes. If 3 lemons balance with 1 ½ tomatoes, then 1 lemon is equal in weight to ½ tomato. To find out how many tomatoes balance with the cabbage, subtract the equivalent of a lemon, or half a tomato, from each side. 

STRATEGY: Make it simpler.
	


Puzzle 33

	 The Bottom Line

	Look carefully at each line of numbers in the number pyramid. What number should replace the question mark in the middle of the bottom line? Explain why. 

8
2 5 2
1 2 4 2 1
1 2 1 3 1 2 1
1 2 1 1 ? 1 1 2 1


 
	 

	The number 2 should replace the question mark. Each horizontal row adds up to one more than the one above it, so the last row must add up to 12. 

STRATEGY: Look for a pattern

	


Puzzle 34
	 Right in the Middle

	The numbers in the middle column are related in some way to the numbers in the left and right columns. How are they related? 

3

42

8

5

51

3

8

61

2

7

53

5


	 

	In each row, the middle number is the product of the number on its left and the number on its right, but backwards. 

STRATEGY: Look for a pattern.
	


Puzzle 35

Three people check into a hotel. They pay £30 to the manager and go to their room. The manager suddenly remembers that the room rate is £25 and gives £5 to the bellboy to return to the people. On the way to the room the bellboy reasons that £5 would be difficult to share among three people so he pockets £2 and gives £1 to each person. Now each person paid £10 and got back £1. So they paid £9 each, totalling £27. The bellboy has £2, totaling £29. Where is the missing £1?

We have to be careful what we are adding together. Originally, they paid £30, they each received back £1, thus they now have only paid £27. Of this £27, £25 went to the manager for the room and £2 went to the bellboy.
Puzzle 36

Last week I spent half of my money on a new jacket and then I spent half of that amount on some new trousers. I was left with £32.94. How much did I spend?

£98.82: I started with £131.76 and I spent £65.88 on a new jacket, and then £32.94 on the trousers, a total spend of £98.82.
Puzzle 37

What letter comes next in this sequence: 

E H L O S ==?==

V: skip two and three letters alternately. 

Puzzle 38

Can you replace the question marks with maths symbols (+-/x) and make the equation correct: 

(9 ? 1) ? (7 ? 6) ? (8 ? 4) = 3 

(9 - 1) - (7 - 6) - (8 - 4) = 3.

Puzzle 39

James had 17 rings and all but 9 were dropped down the drain, how many did he have left?

Nine

Puzzle 40

When she is one year older than she is now, Janet will be twice as old as she was two years ago. How old is Janet?

5 years old. If Janet is x years old, then: 

x + 1 = 2 * (x - 2)
x + 1 = 2x - 4
5 = x

Puzzle 41

At the annual BrainBashers puzzle discussion conference, 20 people attended. At the start of the conference, each person shook hands with every other person, how many handshakes took place in total?

190: the first person shook hands with 19 others, the second had already shook hands with the first and therefore shook 18 hands, etc: 19+18+17+16+15+14+13+12+11+10+9+8+7+6+5+4+3+2+1 = 190.

Puzzle 42

After a recent spate of home improvements, four couples were having a dinner party to discuss the additions to their houses. Alan had not recently had a new bathroom. Kara had not yet done her kitchen, but perhaps would update it next. Brian, who is married to Maud, had not had new windows. Laura delighted in showing photographs of her new conservatory. Neither Charles nor David had a new kitchen. Julie had not had new windows. Alan, who also had not had windows, is not married to Laura and Charles is not married to Kara. Who is married to whom and what work had they recently undertaken, assuming that each couple had one improvement and no two couples had the same improvement.

Alan is married to Julie and they had a new kitchen.

Brian is married to Maud and they had a new bathroom.

Charles is married to Laura and they had a new conservatory.

David is married to Kara and they had new windows.

Puzzle 43

If you turn a right handed glove inside out, will it be still be a right handed glove or will it now be a left handed one?

It will now be a left handed glove.

Puzzle 44

Using the BrainTracker grid below, how many words can you find? Each word must contain the central D and no letter can be used twice, however, the letters do not have to be connected. Proper nouns are not allowed, however, plurals are. There is at least one nine letter word. Excellent: 30 words. Good: 23 words. Average: 18 words. 

	S
	S
	I

	G
	D
	E

	U
	D
	I


Common words: did, die, died, dies, dig, digs, disguise, DISGUISED, disuse, disused, dud, dude, dudes, duds, due, dues, dug, guide, guided, guides, id, ides, ids, issued, side, sided, sides, suds, sued, used.

All words: de, did, didie, didies, die, died, dies, diesis, dig, digs, dis, disguise, DISGUISED, diss, dissed, disuse, disused, dud, dude, dudes, duds, due, dues, dug, dugs, dui, ed, ged, geds, gid, giddies, gids, gied, gude, gudes, guid, guide, guided, guides, guids, guised, gussied, id, ides, ids, issued, side, sided, sides, sudd, sudds, suds, sudsed, sued, used.

Puzzle 45

When the day before yesterday was referred to as the day after tomorrow, the day that was then called yesterday was as far away from the day we now call tomorrow as yesterday is from the day which we shall now be able to speak of last Monday as a week ago yesterday. What day is it?

Thursday. Let the day number be D3 (arbitrary), then the day before yesterday is D1, so for it to be referred to as the day after tomorrow makes it D6, the day then called yesterday was D5 - which is as far away from the day we now call D4, i.e. was a day ahead. This is the same as yesterday, D2, is from Tuesday. So D2 is one day ahead of Tuesday = Wednesday and we want D3 = Thursday. QED.

Puzzle 46

Can you name four days which start with the letter "T"?

Tuesday, Thursday, today, and tomorrow!

Puzzle 47

These five words are connected somehow, which word is missing? 

ORIGAMI
REPTILIAN
==?==
NUCLEI
GLIDING
EMBRYO 

Choose from: 

albatross, approved, bingo, furtive, pedaled, zebra 

Approved: the initial letters spell ORANGE and the last letters spell INDIGO.

Puzzle 48

Using the BrainTracker grid below, how many words can you find? Each word must contain the central M and no letter can be used twice, however, the letters do not have to be connected. Proper nouns are not allowed, however, plurals are. There is at least one nine letter word. Excellent: 16 words. Good: 12 words. Average: 8 words. 

	O
	E
	W

	H
	M
	S

	E
	R
	E


Common words: em, hem, home, me, mere, mesh, mew, more, mow, mower, ohm, seem, some, SOMEWHERE, whom, worm.

All words: em, eme, emeer, emeers, emes, ems, hem, heme, hemes, hems, herm, herms, hm, home, homer, homers, homes, me, meow, meows, mere, meres, mesh, mew, mews, mho, mhos, mo, mor, more, mores, mors, morse, mos, mow, mower, mowers, mows, ohm, ohms, om, omer, omers, oms, rehem, rehems, rem, rems, rom, roms, seem, seemer, seme, shmo, smew, some, SOMEWHERE, whom, worm, worms.

Puzzle 49

Put the characters C - D - M - L - X in the right order - but not alphabetical.

X - L - C - D - M: roman numerals.
Puzzle 50
I recently gave a new carriage clock to my friend for their birthday. However, as usual with my presents, it was quite useless as it loses 6 minutes every hour. I set it using my own accurate clock at midnight and the clock now shows 10.12am. I know that it stopped 2 hours ago, so what is the correct time now?
1.20pm: since the clock is losing 6 minutes every hour, for every real hour that has passed, the clock will only show 54 minutes. Since the clock shows 10.12am, we know that 612 clock minutes have passed. This therefore equals 680 real minutes and hence 11 hrs and 20 minutes. The clock stopped 120 minutes ago, therefore the time must now be 1.20pm. 
Puzzle 51

What number comes next in this sequence: 

1 2 2 4 8 11 33 37 148 ==?== 

153: the sequence is created using: +1 x1 +2 x2 +3 x3 +4 x4 +5.

Puzzle 52

Can you replace the letters in the sum below to make a valid calculation. Each letter represents one number only and each number is represented by only one letter: 

 SEND
 MORE +
-----
MONEY

9567

 1085 + 

-----

10652 

There may be other correct answers, so any answer which fits is fine.

Puzzle 53

Kevin is 5 years old, James is also 5 and Rebecca is 7. How old is Jacqueline?

10 years old: the length of the name in years.

Puzzle 54

What is the smallest integer, which, when multiplied by 3 gives a number consisting of only 4's?

148. 148 * 3 = 444.

Puzzle 55

What comes next in this sequence: 

fawn bear lion mole ==?== 

Select from: seal duck stag vole wolf.

Duck: the second letters of each word are the vowels in alphabetical order, fAwn, bEar, lIon, mOle, dUck.

Puzzle 56

	 Spiders and Insects

	Once the spiders and the insects played a game of tag. To be fair, the insects were allowed to have more members on their team, because an insect has fewer legs than a spider. (As you know, a spider has eight legs, while an insect has only six.) Altogether, there were 20 heads and 136 legs in the game. 

How many insects were playing? How many spiders?


	 

	8 spiders, 12 insects 

You know there are 20 animals, and more insects. If all were insects, there would be 120 legs. But there are 136, which means that 16 additional legs must belong to spiders. Since each spider gets 2 of those 16 legs, divide 16 by 2 to get 8 spiders. Subtract 8 from 20 to get 12 insects.

STRATEGY: Work backwards.
	


Puzzle 57

	 Profit or Loss?

	Jill brought home a poster from her trip. She had paid $25 for it. Liu saw the poster and gave Jill $35 for it. A few days later, Jill bought the poster back for $45. Then she sold it again, this time to her cousin Allie for $55. 

Did Jill make money on her transactions, or lose money?


	 

	Add up all the money that Jill spent — $25 and $45 for a total of $70. Then add up all the money Jill got for the poster — $35 and $55 for a total of $90. Jill came out ahead by $20.
	


Puzzle 58

	 Moving Day

	The Masters family is moving to a new house. They have a dog, a cat, and a pet mouse, but the animals don't get along in the car, so they can take only one at a time. 

Then there are other problems. They can't leave the dog alone with the cat, because the dog chases the cat if no one is watching. And they can't leave the cat and the mouse together, because...well, you know what would happen if they did.

How can the Masters family get all three of their pets to their new house?


	 

	They take the cat to the new house, leaving the dog and the mouse at the old house. They return to the old house and take the mouse to the new house. They take the cat back to the old house, leave it there, and take the dog to the new house. Then they return to the old house for the cat.
	



PUZZLE 59

1. The first question with B as the correct answer is: 

A. 1
B. 4
C. 3
D. 2 

2. The answer to Question 4 is: 

A. D
B. A
C. B
D. C 

3. The answer to Question 1 is: 

A. D
B. C
C. B
D. A 

4. The number of questions which have D as the correct answer is: 

A. 3
B. 2
C. 1
D. 0 

5. The number of questions which have B as the correct answer is: 

A. 0
B. 2
C. 3
D. 1

1. C
2. D
3. B
4. C
5. B

PUZZLE 60
Using the letters AAEEIIMMPPTT complete this grid. The grid reads the same across as down. 
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The words are limp, idea, meat, pate.

PUZZLE 61

Q1. Which is the first question where c) is the correct answer 

a) Q3
b) Q4
c) Q1
d) Q2 

Q2. Which is the first question where a) is the correct answer 

a) Q4
b) Q2
c) Q3
d) Q1 

Q3. Which is the first question where d) is the correct answer 

a) Q1
b) Q2
c) Q4
d) Q3 

Q4. Which is the first question where b) is the correct answer 

a) Q2
b) Q4
c) Q3
d) Q1 

1. d)

2. c)

3. a)

4. b)
PUZZLE 62

If you are in a dark room with a candle, a wood stove and a gas lamp. You only have one match, so what do you light first?

The match![image: image20.png]



PUZZLE 63

You are running in a street marathon and you overtake the person in second place, what position are you now in?

If you think that you are now in first place, then think again! If you overtake the person in second place, you are now in second place yourself!

PUZZLE 64

What letter comes first in this grid? 

_  T  T  F  F
S  S  E  N  T
E  T  T  F  F
S  S  E  N  T

O: the letters are the first letters of the first numbers, One, Two, Three, etc.

PUZZLE 65

Using the BrainTracker grid below, how many words can you find? Each word must contain the central C and no letter can be used twice, however, the letters do not have to be connected. Proper nouns are not allowed, however, plurals are. There is at least one nine letter word. Excellent: 11 words. Good: 9 words. Average: 8 words. 

	A
	D
	B

	O
	C
	D

	A
	R
	R


Common words: arc, cab, cad, car, card, CARDBOARD, carob, cob, cobra, cod, coda, cord, crab, doc.

All words: arc, arco, cab, cad, car, carb, carbo, carbora, card, CARDBOARD, carob, carr, cob, cobra, cod, coda, cor, cord, crab, doc, oca, orc, orca, roc.
PUZZLE 66
Starting in the bottom left corner and moving either up or right, adding up the numbers along the way, what is the largest sum which can be made? 
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38: 
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PUZZLE 67

A trout's tail weighs eight pounds. Its head weighs as much as the tail and one-half of the body combined, and the body weighs as much as the head and tail combined. What does the whole trout weigh?

64 pounds: the head weighs 24 pounds, the body weighs 32 pounds and the tail weighs 8 pounds.
PUZZLE 68

I want to travel 1,000 miles on an adult tricycle and I have two spare tires. However, I want to use all five tires equally and have an equal mileage on each of the five tires by the end of the trip. Of course I can only use three tires at a time, so I will have to change tires during the trip. At the end of the trip how many miles will each tire have been used?

600 miles: a total of 1,000 miles have been travelled and at any one time, three tires are travelling. Therefore 3,000 tire miles have been travelled, which is shared equally by the 5 tires.
PUZZLE 69
Last week, I travelled from Birmingham to Kansas. On the first day I travelled one quarter of the distance. On day two, I travelled one half of the remaining distance. On day three, I travelled three quarters of the remaining distance. Yesterday I travelled one third of the remaining distance. I now have 21 miles left to travel. How far is it from Birmingham to Kansas in total?

336 miles. On the first day I travelled one quarter of the distance (84, leaving 252). On day two, I travelled one half of the remaining distance (126, leaving 126). On day three, I travelled three quarters of the remaining distance (94.5, leaving 31.5). Yesterday I travelled one third of the remaining distance (10.5). I now have 21 miles left to travel.

PUZZLE 70

Daniel, my son, is exactly one fifth of my age. In 21 years time, I will be exactly twice his age. My wife is exactly seven times older than my daughter, Jessica. In 8 years time, my wife will be three times older then Jessica. How old are Daniel and Jessica now?

Daniel is 7 years old and Jessica is 4 years old.

PUZZLE 71

After a day picking strawberries I had a basket full. I ate 5 and gave Geoff half of the remaining. I then ate another 3 and gave Simon one third of the remaining. I ate another 6 and then gave Kim two thirds of the remaining. I now had 34 strawberries left. How many did I start with?

335 strawberries. Ate 5 = 330, gave half to Geoff = 165, ate 3 = 162, gave one third to Simon = 108, ate 6 = 102, gave two thirds to Kim = 34 left.

